
 

تم تحميل هذا الملف من موقع المناهج الإماراتية

*للحصول على أوراق عمل لجميع الصفوف وجميع المواد اضغط هنا                                   

                  https://almanahj.com/ae                     

* للحصول على أوراق عمل لجميع مواد الصف السادس اضغط هنا    

https://almanahj.com/ae/6                   

* للحصول على جميع أوراق الصف السادس في مادة رياضيات ولجميع الفصول, اضغط هنا    

https://almanahj.com/ae/6math                   

* للحصول على أوراق عمل لجميع مواد الصف السادس في مادة رياضيات الخاصة بـ الفصل الثالث  اضغط هنا                

https://almanahj.com/ae/6math3     

* لتحميل كتب جميع المواد في جميع الفصول للـ الصف السادس اضغط هنا        

https://almanahj.com/ae/grade6                   

        للتحدث إلى بوت المناهج  على تلغرام:  اضغط هنا   

https://t.me/almanahj_bot    
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Shaikha Alkaabi – Al Maha School 

 

MOE Exam 2 – Grade 6 – Term 3 – 2019/2020   Distance Learning 

Lesson Formula Example 

Surface area 

of pyramids 

 

 

 

 

 

 

Square pyramid     

B=6 x 6 = 16 

P=6+6+6+6 = 24 

L = 7 

 

S.A.=16 + 0.5x24x7 

       = 16 + 84 

       = 100 

Volume and 

Surface Area 

of 

composite 

figures 

 

Volume of Rectangular Prisms = l x w x h 

 

Volume of Triangular Prism = 
 𝑏 ×ℎ ×ℎ2  

 

Volume of rectangle Pyramid = 
 𝑏 ×ℎ ×ℎ3  

 

Volume of triangle Pyramid = 
 𝑏 ×ℎ ×ℎ6  

 

 

 

 

 

 

 
Find the volume of the composite 

figure. 

V1 = 16 x 8 x 6 =768 

V2 = 8 x 6 x 8 = 384 

V = 768 + 384 = 1152 

Mean 

 

Mean =  
𝒔𝒖𝒎 𝒐𝒇 𝒕𝒉𝒆 𝒅𝒂𝒕𝒂 𝒏𝒖𝒎𝒃𝒆𝒓 𝒐𝒇 𝒑𝒊𝒆𝒄𝒆𝒔 𝒐𝒇 𝒅𝒂𝒕𝒂  

 

Missing value =  

(Number of value × mean) – Sum of the data 

Find the mean for the data. 

3 , 5 , 5 ,1 , 7 , 3 

 

Mean = 
𝟑+𝟓+𝟓+𝟏+𝟕+𝟑 𝟔  = 4 

  

A student was asked to find the mean 

of the numbers  

23, 29, 17, 16 and x. 

He found the mean to be 22.  

What should be the number in place of 

x. 

x = (5 x 22 ) – 85 = 25 

 

Median and 

Mode 

 
The median of a list of values is the value appearing at the 

center of a sorted version of the list. 

ي الوسط يقع ترتيب الأرقام ثم إيجاد الرقم الذي 
ف   

The mode is the number or numbers that occur most often. 
 الرقم الأكثر تكرارا

Find the median and mode for the 

set of data. 

10 , 7 , 3 , 5 , 10 , 9 , 8 

 

3 , 5 , 7 , 8 , 9 , 10 , 10  

 

Median = 8 

Mode = 10  
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Measures of 

Variation 

 

 

 

 

 

 

 

 

 

 

 

Find the measures of variation for 

the set of data. 

10 , 7 , 3 , 5 , 10 , 9 , 8 

 

3 , 5 , 7 , 8 , 9 , 10 , 10  
 

Range = Largest n. – Smallest n. 

            = 10 – 3 = 7 

Median = 8 

Q1 = 5    ,   Q3 = 10 

IQR = Q3 – Q1 

IQR = 10 – 5 = 5 

Outlier: No outlier 

Mean 

Absolute 

Deviation 

MAD 

 

 

 

 

 

 

 

 

 

 

 

Find mean absolute deviation 

of the data. 

5 , 7 , 10 , 2 

 

Step1: mean = 
 𝟓+𝟕+𝟏𝟎+𝟐 𝟒  = 6 

Step2: deviation │5 - 6│= 1 

│7 - 6│= 1 , │10 - 6│= 4 , │2 - 6│= 4  

 

 Step3: MAD = 
 𝟏+𝟏+𝟒+𝟒 𝟒  = 2.5 

Appropriate 

Measures 

 

 

 

 

 

 

 

 

2 , 3 , 5 , 8 , 8 

The measures of center that best 

describe this data are the Mean 

 

5 , 16 , 17 , 19 , 19 

The measures of center that best 

describe this data are the Median 

 

10, 12 , 12 , 12 , 15 

The measures of center that best 

describe this data are the  

Mode and median 

Histograms 

 

 

 

 

 

 

 

 

➢ 10 books were between AED 30-39 

➢ How many books cost between 

AED 50 - 59? 16 books  

➢ How many books cost less than 

AED 40? 12 + 10 = 22 books 

➢ Most of the books cost between 

AED 60 - 69  
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Box Plots 

 

 

 

 

 

 

 

 

 

 

 

lower extreme= 6,upper extreme= 13 

median = 9    , Q1 = 8    , Q3 = 11 

Range = 13 – 6 = 7 

IQR = Q3-Q1 = 11 – 8 = 3 

Shape of Data 

Distributions 

 symmetry: The left side of the distribution متماثل

                                    looks like the right side. 

 .cluster: Data that are grouped closely together تجمع

 .gap: The numbers that have no data value فجوة

  peak: The most frequently occurring values or قمة

                     mode. 

 

 

 

 

 

 

 

 

 

 

 

 
cluster: 16-18 and 22-25 

gap: 19-21 

peak: 22 

No outlier 

Not symmetric  

Use the median to describe center. 

Median = 22 

Use the IQR to describe spread. 

Q1 = 18   ,  Q3 = 24 

IQR = 24 – 18 = 6 

Interpret Line 

Graphs 

 

 

 

 

 

 

 

 

 

Select an 

Appropriate 

Display 
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